AVAVAVAY, SITECH

y TRIMBLE COMPONENT SHEETS

SITECH Central YOUR CONSTRUCTION TECHNOLOGY PROVIDER



SPS855 Base Station Components

-~ Temm

Z =r x ¢«

moowp»

SITECH

69855-91 RECEIVER, SPS855, 900 MHz
69855-61 RECEIVER, SPS855, 403-473 MHz
55100-41 CARRYING CASE

1150000-50 ANTENNA - GPS, ZEPHYR MODEL 3
32319 ANTENNA - 900 MHz RADIO

44085-60 ANTENNA —410-470 MHz

78651 POWER CORD KIT

46125-20 CABLE POWER 3M BATTERY CLIPS
58957-02 CABLE GPS ANTENNA, 1.6m, YELLOW
56500-90 EXTERNAL 900 MHz ANTENNA KIT
56500-66 EXTERNAL 450-470 MHz ANTENNA KIT
59043 CABLE DATA, DB9 TO DB9

78650 POWER SUPPLY

57167 ADAPTER - DB26 TO USB

57168 ADAPTER - DB26 TO DB9

44016 CABLE 1.5M, USB

50150-00 CABLE 2M ETHERNET

8154-02 TRIPOD BAG
28959-050 2.0M TRIPOD
5115-060 .25M POLE EXT.
5190-00 POINT, PRISM POLE
2070-002 ADAPTER PLUG



R750 Base Station Components

PN: GNSS-AC-USB S . N—

USB-C Charger w/ O .

PN: 115000-50
Zephyr 3 Base Antenna

Power/ Data Cable

PN: 78651-HH
Power Cable Kit

PN: CON-R750-XXX
900 MHz/ NoUHF

PN: 107000-HH
Power Supply

PN: 58957-02
1.6m Yellow GPS Cable

o 7

PN: 101750-00
R750 Transport Case

g1

ey ©
>

SITECH

PN: 57168-HH
DB26 to DB9 Ethernet &
Power Connector

PN: 46125-20
3m LMO to Battery Clips

PN: 56500-90

W\ 900 MHz External

=

b

L

Radio Kit

PN: 32319

900 MHz 8”
Articulated Whip
Antenna



SPS986 Rover Components SITECH

PN: 55100-31
Carrying Case

PN: 106900-XX

SPS986 Smart Antenna
PN: 109000-HH
PN: 66540-10
Dual Slot Charger Antenna 900/2400 MHz
OR
PN: 92670-HH PN: 44085-60
Battery Li-lon Antenna 410-470 MHz
PN: 107000
Power Supply PN: 80751
PN: 78651-HH Cable RCVR to USB

Power Cable

2L TN T

¢ WO
PN: 84690-00 ____ — PN: 44092
Tripod Adapter

SPS Quicklock




SPS785 Rover Components

PN: 109000
Dual Slot Charger &

PN: 107000
Power Supply

PN: 116377050

PN: 78651 SPS785 Receiver
Power Cords lg%&

PN: 92670 f @ Trimble.

Battery Li-lon

PN: 90938 _/ T .

Data Cable T PN: 114084 Fy |
Trimble Bag

PN: 107535 e | S—

OTG USB to Mini USB

SITECH

PN: 89941-02
UHF Module

PN: 117855-35
35cm Extension

PN: 44085-46
Ant 425-475 MHz

PN: 114089
7cm Extension

PN: 96845
Adapter Cable

PN: 96174
Torx Driver T25



SITECH

EM100 Empower Module Precise Rover Kit

: PN: 44830-00
GA830 Antenna

: PN: 110221-00-HH
EM100 GNSS Module

: PN: 70800-15 QTY 2
Zephyr/Tornad0/Tempest
GNSS antenna cable (TNC to
SMB 1.5m)

: PN: 70800-50 QTY 2
Zephyr/Tornad0/Tempest
GNSS antenna cable (TNC to
SMB 5m)

Eu
q A

A

’IQO




SITECH

Sitevision Components

PN: 104436-00
Catalyst Antenna

PN: 118581-02 and Handheld Unit
Carry Case /

PN: 118580-01-HH
Battery Charger Not Pictured:

— PN: 88142-02

‘v N Monopole Carbon
; ) Fiber (1.3 Meter)
PN: 118579-01 ,
Batteries

PN: 118564-HH
Sun Shade

PN: 118187-01-HH

USB C to USB C Cable PN: 119252-00-HH

Pole Mount



TSC5 Controller ¥

A: PN: TSC501
TSC5 Controller
B: PN: 121952-01-HH
TSCS5 Pole Mount Bracket
C: PN: 121951-01-HH
Quick Release Pole Mount Clamp
D: PN: 121921-HH
45W AC Wall Charger Kit
E: PN: 121986-01-HH
TSC5 Pouch
F: PN: 110238-00-HH
EM120 2.4GHz Module
G: PN: 110221-00-HH
EM100 GNSS Receiver
H: PN: 121351-01-HH
Hand Strap
I: PN: 121355-01-HH
TSC7/TSC5 Stylus with lanyard F
J: PN: 115896-HH
TSCS5 Glass Screen Protector (Clear) 10 Pack
K: PN: 121344-01-HH
Shoulder Sling
L: PN: 121354-01-HH
Carry Case Shoulder Bag

SITECH



TSC7 Controller Components

PN: 121354-01-HH
Carrying Case

PN: 114124-HH

114125-HH

PN: 121355-01-HH
Stylus with lanyard

PN: 121349-01-HH
Pole Bracket

PN: 121351-01-HH
TSC7 Hand Strap

SITECH

PN: 121340-01-HH
Screen Protector

PN: 110238-00-HH
EM120 2.4Ghz Module

PN: 121320-01-HH
Battery 2-pack

PN: 121341-01-HH
AC Adapter North America

OR

PN: 121341-00_HH
AC Adapter International

OR

PN: 104980-01-HH
Vehicle Adapter



PN: 11-238-00-HH SITECH
_— EM120 2.4GHz Module [ — PN: 110221-00-HH
EM100 GNSS RECEIVER

T7 Controller

PN:121351-01-HH PN:121354-01-HH
PN:119695-HH Hand Strap Carry Case
Pole Bracket \ PN:TABT701 ~ /
T7 Tablet

Hp

PN:119696-HH
Quick Release Pole Mount

\

PN:121344-01-HH

PN:121355-03-HH Shoulder Sling

Stylus with Lanyard P

. 446
\\‘a—. .
. 4 \ PN:121348-01-HH

External Chargers

8

PN:72766-00
Antenna 2.4 GHz ™~

/ \

PN:115895-HH
Screen Protector PN:121320-01-HH

10 Battery 2-Pack



SITECH

T10 Controller Components

PN: 114124-HH
Carrying Case
PN: 114121-HH
T10 Pole Mount

PN: 114112-HH
AC Adapter

OR

PN:114115-HH
Vehicle Power Supply

PN: 114108_HH
T10 Hand Strap

PN: 121320-01-HH

Battery 2-pack
PN: 101008 vy ep

Antenna 2.4 GHz
PN: 114107-HH

T10 Stylus

PN: 114109-HH
T10 Screen Protector



TDC600 Handheld Data Controller SITECH

A: PN: 117057-HH
TDC600 Handheld Data Controller
Accessories included: Hand strap kit,
lanyard,screen, AC charger, USB cable

B: PN: SPSSERIES-CB-10
Instrument Bracket for Trimble TDC600
and held on Trimble SPSX30 Universal
Total Stations

C: PN: 117057-HH-BKT
Pole Bracket

D: PN: 119696-HH
Quick Release Pole Mount

E: PN: 118420-HH
AC Adapter w/ Int Cord

F: PN: 118831-HH
TDC600 Screen Protector

G: PN: 118832-HH

TDC600 Hand Strap Kit @

H: PN:118833-HH . ‘ "
BPack,Li-lon,INDUS,1S1P,3.8V,8000mANh, e —
106.8x63x10.5mm,TDC600




PN: 110238-00-HH SITECH
~— EM120 2.4GHz Module ff§«~— PN: 110221-00-HH
EM100 GNSS RECEIVER

T100 Controller

PN:72766-00

Antenna 2.4 GHz \ PN:121990-HH PN:107727-01-HH

Hand Strap arry Case

uaeTion
T100 Universal —™———
Mounting Plate ’
PN:5200-39-052-HH
Quick Release to 1.5” Ram '
H‘ PN:121427-HH
Desk Stand

&
A

-0

PN.120531 -HH

T100 Medium (6”) .
Length Pole Bracket \

PN:120996-HH
T100 Long (10”) Length
Pole Bracket

PN:124341-HH
T100 Adaptor &

j; Cord Kit
— PN:120524-BLK-HH

6 ~ Stylus with Lanyard PN:121718- HH

(5 Pack) USB-C Vehicle Charger

PN:120516-BLK-HH
Screen Protector 5 Pack

13



UTS Components SITECH

PN: 58091001
Instrument Case

PN: SPS930 - SPS730
Universal Total Station

PN: 59701-62
MT900 Machine Target

- ~ PN:50014012-HH
PN: MT1000-HH / Panel attachment cover
MultiTrack Target Lo
% -

PN: 51002007-HH
Rain Cover

PN: 92670-HH ‘ | PN: 73836019-HH
7.4V Battery Car battery (croc clips)



UTS Power Components

PN: 58386001
Carrying Case

PN: 109000-HH
Dual Slot Charger

PN: 107000-HH
Power Supply

PN: 78651-HH

Power Cable

SITECH

PN: 59369-00-HH
Battery Holder

PN: 99511-30-HH
Battery 11.1V Lithium-ion

PN: 73838019
Hirose 6 to Hirose 6 pin



SPS and UTS Accessories

™ \Y
¥\
» :}
Y [ -
! Q
PN: 90553-TR-HH  PN: 571126286-HH

Tri-Max Tripod Bipod

PN: 55201-01 PN: 78607007-HH
2m Range Pole Tribrach w/o optical
plummet

i\
PN: 55200-00 PN: 58002007-HH
Telescopic Pole Tribrach w/ optical plummet

PN: 12180-HH

Tribrach to 5/8 adapter

PN: 58024007-HH
Traverse Prism

AN

PN: 58128001-HH
360 Prism

SITECH

)
&

PN: 55150-10
Target-Prism 2.5mm

PN: MT1000-HH
MultiTrack Target

PN: 73836019-HH
Car Battery Cable



SPS and UTS Accessories SITECH

PN: 114110-HH PN: 55169-00 PN: 55130-00 PN: 72758-00
T10 Battery Range Pole Level Topo Shoe TSC3 Bracket

V‘

P .
N /\f/ -
PN: 72766-00 PN: 72764-00 PN: 55128-00 PN: 72759-00
Ant Internal 2.4GHz TSC3 Carry Case Range Pole Point TSC3 Vehicle Mount

—

PN: 88771 PN: 72751-00 PN: 72750-00 PN: 93253-01-HH
Triple Mag Mount  TSC3 Batt Charger TSC3 Battery / Door TSC3 Screen Protectors



GCS Components

PN: 82162-11

Carrying Case

MS995 Receiver

PN: 0395-9450

Coil Cord

PN: 0367-3080

Electric Mast Adapter

PN: 0794-3220
Control Box Mount

SITECH

MS995 Receiver

PN: CB460
Control Box

PN: 0367-3080
Electric Mast Adapter



SITECH

Earthworks GO! Components

PN: 66491-05
— LR410 Receivers

PN: 160165-500
GO BOX

PN: 0794-2350

Coil Cables ]
BYOD, Compatible

with iOS and Android
Smartphones

19



SITECH

Earthworks Components

PN: 82167
Carrying Case

. MS975 Receiver

PN: 0395-9450
MS9XX Coil Cord

PN: 95520-10 PN: 554-8938
GS520 Sensor EC520 Controller
Module

PN: 101008

PN: 300520-00 Antenna, 2.4 GHz

TD520 Display or
TD510 Display

PN: 112411-04
Handle Lock

v




MS99X Bracket Assembly

PN: 52070-00
Bracket Assembly

SITECH

PN: 51536 Spacer, 19mm OD x10.5ID x 6 TK
PN: 51086 WSHR, FLT, M10, 20mm OD SSTL
PN: 51087 WSHR, LK, Split, M10 SSTL

PN: 50954 Handle, M10 x 35 ADJ. Black



N |
MS97X Bracket Assembly SITECH

PN: 84071-00

Bracket Assembly PN: 83619-00S

Handle Assembly

PN: 8209-4120
Cap Screw, M10X20MM



SITECH

Quick Release Handle Lock

PN: 112411-04
Handle Lock Kit

< PN: 112411-01

PN: 112411-03 Handle Lock Kit

Trimble Key

PN: 112411-02
Screw, M10X20MM




Electric Mast Mounts

l PN: 0367-3080
. l Mast Adapter

PN: EM4X0
Electric Mast

—

PN: M4
Shock Mount

PN: 0791-1740
Mast Mount

Bolt = 3/4-10 X 2” GRD 8 /

Washer = 3/4” X.78 X1.42 GRD 8

SITECH

Bolt=M12 - 1.75 X 70mm
Washer = M12 X 2.5mm

PN: 0790-4241
~— Mast Riser

PN: 0793-3350 EM400
10 — 10 Coil Cord

P

PN: 150445-030 EM410

C 10 — 6 Coil Cord
- Q " PN: 0312-0990
S~ 6 — 6 Coil Cord

< PN: 0794-1080

\ Sideshift Block

Bolt = 5/8-11 X1 1/4” GRD 8
Washer = 5//8-11 1.75 X .10
Nylon Nut = 5/8-11




Dozer and Excavator Mast Components SITECH

.

PN: 0794-1701
Mast Mount Kit
PN: 81069-10
Steel Mast

_—

H |

A B

ro ¢

| ||'.
.

r{ i \
9 J

P A B —e

==
=

Bolt = 3/4-10 X 2” GRD 8
Washer = 3/4” X.78 X1.42 GRD 8 Bolt=1/2-13 x 3.5

Bolt = 3/4 -16 X 2
Washer = 3/4 -Split



AP |
SNR930 Radio - 900 MHz SITECH

PN: 66540-10
900/2400 Antenna




AP |
SNR934 Radio - 900MHz + 2.4 GHz SITECH

PN: 66540-10 PN: 66540-10
900/2400 Antenna _ < 900/2400 Antenna




AP 6
SNR430 Radio - 403-473 MHz SITECH

PN: 44085-60
410-470 Antenna




AN |
SNR434 Radio - 403-473 MHz + 2.4 GHz SITECH

PN: 66540-10
900/2400 Antenna

PN: 44085-60
410-470 Antenna




SITECH

Laser Components

PN: 82198 — :i'
Carrying Case

PN: LR410
Laser Receiver

PN: LR410
Laser Receiver

PN: 0793-3350
10 - 10 Coil Cord

PN: 0793-3350
10 - 10 Coil Cord

PN: 0312-0990
6 — 6 Coil Cord

PN: 0312-0990
6 - 6 Coil Cord




SITECH

Sonic Tracer Components

PN: 0790-8900
Tracer Tube

PN: 0794-2350
6 — 10 Coil Cord

_ PN: 0355-9960
PN: ST400 _— Base Tracer Clamp
Sonic Tracer PN: 0355-9960 $ ‘

Base Tracer Clamp ‘

<— PN: 0355-8550
Tracer Arm




SITECH

GL722 Laser Transmitter Components

. 1445-0000 GL722 DUAL GRADE LASER

. M102 TRIPOD ADAPTOR

. 1445-0860 CARRYING CASE

. 1277-0067 CR600 OPERATOR'S MANUAL

. 1445-0100 GL7XX OPERATOR MANUAL
1445-2092 CHARGER,

. 1446-8801 ASSY,1/0 CABLE HR500

. CR600-1 LASER RECEIVER

1277-2300 ROD CLAMP

1446-8710 REMOTE CONTROL HOLSTER

. 6003-0540 CABLE - CORDSET, POWER, US

1446-8000 ASSY,RF BUTTON-UP 2 WAY,RC703

.1445-1770 CABLE, 12V BATTERY,W/CLAMP

1445-2610 SHUTTER

. 1277-2000 MACHINE MOUNT

-~ I @ M MmOoOOwW >

oz=r x «




SITECH

Tripod and Axis Alignment Tool

A. 302612-04 LEG, TRIPOD, 8FT
B. 202415-01 LEG EXTENSION
C. 408700-03 ELEVATING TRIPOD BASE

A. 5217-58 BIPOD DUAL HINGE (SECO)

B. 5530-20 12-FT DUAL GRAD PRISM POLE (SECO)
C. 5194-03 POINT, HEX, DULL (SECO)

D. 5079-063 ADAPTER BRACKET (SECO)



PCS400 Paving Components

PN: 65630
CB440 Case

-

@Trin'"Ie

PN: 65440-10 .

Control Box r_‘

SITECH

PN: 72222-00
ST220 Sonic
Sensor

PN: 65600

4 Tracer Case

PN: 72431-01
CS200 Contact
Sensor

PN: 327-8069
Counterweight Arm

PN: 327-8068
String-Line Wand

—«—PN: 327-8070

Surface Ski
PN: 2501-0453  PN: 58055-10 PN: 68182
1 Ball ' ' il Cord 10-7
Ram Ball Ram Mount | Coil Cord 10



PCS400 Brackets SITECH

PN: 65648-00
Swing Arm to Sensor Arm

PN: 89975

PN: 99513 Sensor Pole Mount

Swing Arm

PN: 80599-00
Adjustable Handle

PN: 68182
Tracer Cable

6 G Tow Arm Tall Tow Arm Short



PCS400 Averaging Beam and Cables SITECH

81494-40
81494-30 (340-5655) \
(340-5652) /
81494-20
(340-5650)

81494-10
(340-5649)

PN: 89335
Ski Harness

% T~ PN: 69457

Ski Harness Jumper




SITECH

Roadworks 2D Components

A: PN: 201500-00
TD510 Display

B: PN: 119500-10L
PN: 119500-10R

KP510 Keypads
C: PN: 117546-00

SD510 Ethernet Switch
D: PN:100441-10

VM510 Valve Module

E: PN: 119635-10
Component Enclosure Housing

PN: 119634-10 Cover
F: PN: 200435-10
EC520 Electronic Controller
G: PN: 50999-10
AA510 Audible Alarm
H: PN: 160040-502
AS200 Angle Sensor
I: PN: 72431-01
CS200 Contact Sensor

J: PN: 72222-00
ST220 Sonic Sensor




Roadworks 3D Components

A: PN: 200435-10
B:

C:

K: PN: 248-1502

: PN: 50999-10

: PN:100441-10

: PN: 104941-05

: PN: 59701-62

: PN: 69601-62

: PN: 210500-00

: PN: 97007-24

SITECH

EC520 Electronic Controller C

PN: 300520-00
TD520 Display

PN: 79701-00

AS450 Angle Sensor

pimble |

AA510 Audible Alarm
VM510 Valve Module

SNM941

J
Il

¢ J ] /; 1l
MT900 Machine Target ‘
Bracket

Manual Mast

SNR934

or

PN: 97007-34
SNR434

Angle Risers


https://partnerstore.trimble.com/OA_HTML/ibeCCtpItmDspRte.jsp?sitex=10700:54105:US&item=1267334

	TRIMBLE COMPONENT SHEETS
	SPS855 Base Station Components
	R750 Base Station Components
	SPS986 Rover Components
	SPS785 Rover Components
	EM100 Empower Module Precise Rover Kit
	Sitevision Components
	TSC5 Controller
	TSC7 Controller Components
	T7 Controller 
	T10 Controller Components
	TDC600 Handheld Data Controller 
	T100 Controller 
	UTS Components
	UTS Power Components
	SPS and UTS Accessories
	SPS and UTS Accessories
	GCS Components
	Earthworks GO! Components
	Earthworks Components
	MS99X Bracket Assembly
	MS97X Bracket Assembly
	Quick Release Handle Lock
	Electric Mast Mounts
	Dozer and Excavator Mast Components
	SNR930 Radio - 900 MHz
	SNR934 Radio - 900MHz + 2.4 GHz
	SNR430 Radio - 403-473 MHz
	SNR434 Radio - 403-473 MHz + 2.4 GHz
	Laser Components
	Sonic Tracer Components
	GL722 Laser Transmitter Components
	Tripod and Axis Alignment Tool
	PCS400 Paving Components
	PCS400 Brackets
	PCS400 Averaging Beam and Cables
	Roadworks 2D Components 
	Roadworks 3D Components

